Jumping 2 Small

Length 173m

SCT 57 sec

MCT 69 sec

IBHL | TS PN eniE AL | BALBR| R | B | BERS
1 | 241 [¥3335 DTILTA 49.49 0 5 0 5
DQ | 242 [7—¥ O—%— DQ DQ DQ | DQ DQ
DQ | 243 |=)LY O—F— DQ DQ DQ | DQ DQ
DQ | 245 (L™ A YH— DQ DQ DQ | DQ DQ
Jumping 2 Medium Length 173m SCT --- MCT 69 sec
lE&HL | /S PN e iR Ao L | FALBR| K | B | RERR
DQ | 244 [E (YA) X DQ DQ pQ | DQ DQ
DQ | 246 |Yv TTILTA DQ DQ DQ | DQ DQ
DQ | 247 [# (CA) £EX DQ DQ DQ | DQ DQ
DQ | 249 &t EX DQ DQ DQ DQ DQ




Jumping 2 Large Length 173m SCT 43sec MCT 69sec
B | B pNE maiE AL | BALBR| R | B | BERS
1 | 263 I\NUir—> R—A—2a!)— 37.28 0 0 0 0
2 | 259 |[Pvy R—4—a1)— 39.08 0 5 0 5
3 | 257 [@vF R—4—al)— 41.66 0 10 0 10
4 | 267 [Sana R—4—al)— 41.93 0 10 0 10
5 256 [FLVFELY R—4—21)— 44.06 1.06 15 0 16.06
6 255 | A—EalLY 55.85 12.85 0 17.85
7 | 248 [9x>T4 R—A—2a!)— 64.4 21.4 0 5 26.4
DQ | 250 |[FEHIX R—4—a1)— DQ DQ DQ | DQ DQ
DQ | 251 [(be»—C R—4—21)— DQ DQ DQ | DQ DQ
DQ | 252 [JL—Fzx R—4—al)— DQ DQ DQ | DQ DQ
DQ | 253 (55 R—A—2l)— DQ DQ DQ | DQ DQ
DQ | 254 [SK R—4—a1)— DQ DQ DQ | DQ DQ
DQ | 260 [[IBRZ R—A—2a!)— DQ DQ DQ | DQ DQ
DQ | 261 [EE R—4—al)— DQ DQ DQ | DQ DQ
DQ | 262 |[HABA R—A—21)— DQ DQ DQ DQ DQ
DQ | 264 = R—4—a1)— DQ DQ DQ | DQ DQ
DQ | 266 (3T« J)a=—— DQ DQ DQ | DQ DQ
DQ | 268 |ZE R—4—a1)— DQ DQ DQ | DQ DQ




Jumping 3 Small Length 178m SCT 49sec MCT 71sec

EfL | /S K4 Gni@ AL (FALBR| R | B | BBERA
1 270 AL )T+ 41.99 0 0 0 0
2 272 |32 cMT—KIL 46.94 0 0 0 0
DQ | 273 LA )T+ DQ DQ DQ | DQ DQ
Jumping 3 Medium Length 178m SCT 48sec MCT 71sec
Efz | S K4 GniE AL | AALBR| KB | Bt | BEBR
1 Wi T )LToa 41.69 0 0 5
DQ | 274 [ (CA) EX DQ DQ DQ DQ DQ
DQ | 275 [tap TTILT4 DQ DQ DQ | DQ DQ




Jumping 3 Large Length 178m SCT 52sec MCT 71sec
B | B pNE maiE AL | BALBR| R | B | BERS
1 | 280 (H5EY R—A—2a!)— 45.11 0 0 0

2 | 277 Loa R—4—a1)— 37.58 0 0 5

3 287 | A—EalL Y 58.16 6.16 0 0 6.16
4 | 288 |HH R—4—a1)— 50.06 0 10 0 10

5 | 282 [sana R—4—al)— 50.21 0 0 10 10

6 | 285 [HvF R—4—2a1)— 41.66 0 10 15

7 | 284 [(R—/ R—A—2a!)— 43.13 0 5 10 15
DQ | 276 &< R—4—a1)— DQ DQ DQ | DQ DQ
DQ | 278 | J)a=—— DQ DQ DQ | DQ DQ
DQ | 281 [b»C R—4—al)— DQ DQ DQ | DQ DQ
DQ | 283 [(\)HF—2 R—4—21)— DQ DQ DQ DQ DQ
DQ | 289 [HH (VLV3E) [R—4F—ay— DQ DQ bQ | DQ DQ
DQ | 291 [Ewky R—4—al)— DQ DQ DQ | DQ DQ




Agility 1 Small Length 157m SCT 46sec MCT 79sec
EfL | /S K4 Gni@ AL (FALBR| R | B | BBERA

1 350 (AL —)L  [NEJV 39.62 0 0 0 0
Agility 1 Medium Length 157m SCT 56sec MCT 79sec
B4z | S PN fniE AL | AALBR| KB | Bt | BEBR

1 351 [E (YA) gEX 48.38 0 0 0 0

2 355 |E X 49.16 0 0 0 0

3 353 [fZn(F— STIILTA 39.02 0 15 0 15

DQ | 354 [/\TXR TILTA DQ DQ DQ | DQ DQ
Agility 1 Large Length 157m SCT 38sec MCT 79sec
B4z | /S PN fniE AL | AALBR| KB | Bt | BEBR

1 358 [SK h—&—a1)— 32.72 0 0 0 0

2 <Y hR—4—a1)— 32.69 0 5 0 5

3 361 |JL—Fzx R—&—a1)— 47.24 9.24 0 5 14.24

DQ | 359 [R9Yqs—Fk R—&—a1)— DQ DQ DQ | DQ DQ

DQ | 360 |P=E h—&—a1)— DQ DQ DQ | DQ DQ




Agility 2 Small Length 189m SCT --- MCT 95 sec
|BfL | S P fniE BAL | FALF A | KB | B iR
DQ | 295 |=JLY J—X— DQ DQ DQ | DQ DQ

DQ | 296 |IL™ ATy H— DQ DQ DQ | DQ DQ
Agility 2 Medium Length 189m SCT 52sec MCT 95sec
B | S pNEZ AniE AL (FALBRA| KK | B | LERSR

1 305 |&E X 45.17 0 0 0 0

2 297 |Rv—JL )T A 57.03 5.03 0 0 5.03

3 303 |8} EX 57.29 5.29 0 5 10.29

4 299 |42 )T A 49.04 0 5 10 15

DQ | 298 |# (CA) LX DQ DQ DQ | DQ DQ

DQ | 300 |ZE IR DQ DQ DQ | DQ DQ

DQ | 302 |tap TTILT4 DQ DQ DQ | DQ DQ




Agility 2 Large Length 189m SCT 48sec MCT 95sec
B | B pNE maiE AL | BALBR| R | B | BERS
1 | 309 [xv R—A—2a!)— 41.69 0 0 0 0
2 ASY, R—4—a1)— 44.54 0 0 0 0
3 | 320 |BABA R—A—2a!)— 43.92 0 5 5 10
4 | 311 [[FBRZ R—4—a1)— 51.95 3.95 0 10 13.95
5 | 313 [Sana R—4—al)— 41.87 0 10 5 15
6 | 301 [&<55 R—4—2a1)— 64.55 16.55 0 0 16.55
7 314 |Fp A—EalL Y 60.5 12.5 5 5 22.5
8 | 315 |Bp=E R—4—a1)— 52.72 4.72 15 5 24.72
9 | 304 |Dz>T+« R—A—2a!)— 63.95 15.95 5 5 25.95
DQ | 306 |R94—b R—F—a1)— DQ DQ DQ | DQ DQ
DQ | 307 [EE R—A—2a!)— DQ DQ DQ | DQ DQ
DQ | 308 |ZE R—&—a1)— DQ DQ DQ | DQ DQ
DQ | 310 [EHIF R—4—al)— DQ DQ DQ | DQ DQ
DQ | 312 [¥3T+« J)a—— DQ DQ DQ | DQ DQ
DQ | 316 [HvF R—4—al)— DQ DQ DQ | DQ DQ
DQ | 317 [FEULVEL R—4—a1)— DQ DQ DQ | DQ DQ
DQ | 318 |—% NANTAUTRYT DQ DQ DQ DQ DQ
DQ | 319 [BEZE (UK) NANTAT RV DQ DQ pQ | bQ DQ
DQ | 321 (55 R—AF—al)— DQ DQ DQ | DQ DQ
DQ | 322 [JL—Fzx R—4—al)— DQ DQ DQ | DQ DQ
DQ | 323 [(\)H5—2 R—4A—21)— DQ DQ DQ DQ DQ




Agility 3 Small Length 199m SCT 70sec MCT 100 sec

IBHL | TS PN eniE AL |FALER| KRB | Bt | BERR

1 326 (/L™ ATy H— 60.74 0 0 0 0

2 | 327 |CBC cMT—FKIL 58.4 0 0 5 5

DQ | 328 [« TTILTA DQ DQ DQ | DQ DQ
Agility 3 Medium Length 199m SCT 66sec MCT 100 sec
lE&HL | /S PN e iR Ao L | FALBR| K | B | RERR

1 330 |9 H IILT4 57.29 0 0 0

2 332 [#b (&) TTILTA 54.05 0 10 0 10

3 329 [# (CA) EX 60.5 0 0 10 10

4 331 & TP RA 63.35 0 5 10




Agility 3 Large Length 199m SCT 54sec MCT 100 sec
B | B pNE maiE AL | BALBR| R | B | BERS
1 *YoT4 R—4—al)— 46.49 0 0 0 0
2 346 [/\)H—2 R—A—21)— 46.64 0 0 0 0
3 | 339 |HH R—A—2a!)— 50.87 0 0 0 0
4 | 345 (RRyH R—4—a1)— 44.39 0 5 0 5
5 | 349 [Sana R—A—2a!)— 46.1 0 0 5 5
6 | 341 [FHvF R—4—2a1)— 53.51 0 0 5 5
7 | 337 PyFT R—4—al)— 50.42 0 15 5 20
8 338 | A—Eal Y 69.23 15.23 5 20.23
9 | 342 |EE R—4—al)— 68.4 14.4 0 10 24.4
10 | 344 [HS5EY R—4—2a1)— 69.2 15.2 5 25.2
DQ | 333 LA R—4—al)— DQ DQ DQ | DQ DQ
DQ | 334 |—% NANTAVT YT DQ DQ DQ | DQ DQ
DQ | 335 [Ewky R—A—2a!)— DQ DQ DQ | DQ DQ
DQ | 336 [bvC R—4—al)— DQ DQ DQ | DQ DQ
DQ | 340 | J)a=—— DQ DQ DQ | DQ DQ
DQ | 343 [BEZE (UK) NATAUT RS DQ DQ pQ | DQ DQ
DQ | 347 |[KR—/ R—A—2a!)— DQ DQ DQ | DQ DQ
DQ | 348 [R¥E (VWLVB) [RK—4F—1a1)— DQ DQ DQ | DQ DQ




Final Small and Medium Length 185m SCT 50sec MCT 93sec
GGz | BS pNE maiE AL | BALBR| R | B | BERS

1 2Lk TIILTA 43.01 0 0 0 0

2 i (&F) TTILTA 45.05 0 0 0

3 Z5Z rMT—KIL 55.01 5.01 0 5 10.01
DQ <=L TILTA DQ DQ DQ | DQ DQ
DQ my H TTILTA DQ DQ bQ | DQ DQ
DQ b1 TILTA DQ DQ DQ | DQ DQ
DQ Daqt=H~ D TIILTA DQ DQ DQ | DQ DQ
Final Large Length 185m SCT 48sec MCT 93sec
IEfL | &S pNE Y BAL | FALBR| R | Bk | BRERA

1 INYHr—> R—4—31)— 41.66 0 0 0 0

2 HSEY R—4—al)— 46.28 0 0 0 0

3 A O R—4—2a1)— 38.91 0 5 0 5

4 Sana R—A—2a!)— 42.47 0 5 5 10

5 H R—4—2a1)— 54.02 6.02 5 0 11.02
DQ LA R—A—21)— DQ DQ DQ DQ DQ
DQ R—/ R—4—2a1)— DQ DQ DQ | DQ DQ
DQ as A—Eal> DQ DQ DQ | DQ DQ
DQ ARyY R—4—2a1)— DQ DQ DQ | DQ DQ
DQ [TEARZ R—4—21)— DQ DQ DQ DQ DQ
DQ aOvF R—4—2a1)— DQ DQ DQ | DQ DQ




